1

ы.

in د

j.

κ.

Ĺ

GEOLOGICAL REPORT TREATY CLAIM - BOWSER-UNUK PROJECT NORTHERN BRITISH COLUMBIA SKEENA MINING DIVISION NTS 104B/8E '80-# 10 50-# 8767

56°36'H 130°08'W

FOR

E & B EXPLORATIONS LTD.

Owners:	E & B Explorations Ltd.
Contractor:	Can-Lake Explorations Ltd.
Author:	E.R. Kruchkowski Geologist
Date:	April 1981



SUMMARY

The Treaty claim is located approximately 79 kilometers northwest of Stewart, British Columbia in the Skeena Mining Division. The claim is located to encompass a large quartz-sericite-pyrite alteration zone approximately 8 kilometers north of the Sulphurets-Mitchell Creek Cu-Mo and Cu-Au occurrences.

During the period August 5 to August 18, 1980 a geologic mapping and prospecting program was conducted in order to evaluate the gold-silver and copper-molybdenum potential of the claim area. The work was contracted to Can-Lake Explorations Ltd. who conducted field work out of a camp situated on a high ridge in the centre of the claim group.

Sampling and mapping by the contractor has shown large areas of pyrite bearing sericite schists with no significant concentrations of economic minerals.

Mapping failed to indicate whether the alteration zone was the fault extension of the Mitchell Sulphurets mineral zone.

No further work is recommended on the property at the present time. Interest should be renewed only if any significant mineral deposits are located in the Sulphurets-Mitchell area.

TABLE OF C	ONTENTS
------------	---------

		Page
SUMMARY		1
INTRODUC	CTION	2
	Location and Access	2
	Physiography and Topography	2
	Personnel and Operation	4
	Property Ownership	5
	Previous Work	5
GEOLOGY		8
	Regional Geology	8
	Local Geology	9
CONCLUSI	ONS	11
RECOMMEN	IDATIONS	12
REFERENC	CES	13
CERTIFIC	ATE	14

STATEMENT OF EXPLORATION AND DEVELOPMENT

APPENDICES

-

L

.,

LIST OF FIGURES

Figure l	Location Map	page 3
Figure 2	Mineral Disposition Map	page 7
Figure 3	Geology Map	in back pocket

2.

INTRODUCTION

The gold-silver and copper-molybdenum potential of the Treaty claim and surrounding area was evaluated during the period August 5 to August 18, 1980. The program conducted over the Treaty claim consisted of geological mapping and sampling.

The geological aspect of the program was conducted by Can-Lake Explorations while prospecting was conducted by personnel from A.V. Harris and Associates.

Location and Access

The Treaty claim is located at 56°37' latitude and 130°10' longitude approximately 75 kilometers northwest of Stewart, B.C. in the Skeena Mining Division. The property encompasses a high ridge located between Treaty and Tim William glaciers and approximately 2 kilometers southwest of the toe of Treaty Glacier. Figure 1 shows the location of the mineral property.

Access to the claim is by Bell 206 helicopter based in Stewart, British Columbia.

Physiography and Topography

The Treaty claim lies within the Boundary Ranges of the northern Coast Mountains. The region is one of complex mountainous topography at a stage of early maturity with steep mountain peaks and glacier filled valleys. The topography in the vicinity has considerable relief with the ridge south of camp having elevations up to 1750 meters and the Treaty Glacier Valley to the north having elevations of 1130 meters.



Slopes are relatively steep to the north while precipitious slopes are present to the east above a small hanging glacier.

The area is entirely above tree level and is partly covered by alphine vegetation. Outcrops form up to 50% of the area and several lakes up to 100 meters in length are present.

Creeks draining the property ultimately flow in the Bell-Irvine River via Treaty Creek.

Personnel and Operations

Can-Lake Explorations Ltd. personnel present during the exploration program were as follows:

R. Arnold, field geologist August 5 to August 18, 1980.T. Pope, junior assistant August 5 to August 18, 1980.

A.V. Harris and Associates personnel involved in the program were as follows:

B. Putz, prospector August 5 to August 18, 1980.B. Gregoire, junior assistant August 5 to August 18, 1980.

E & B Explorations Ltd. personnel involved in the program were as follows:

E.R. Kruchkowski, geologist August 10 to August 12, 1980.

Can-Lake Explorations Ltd. and A.V. Harris and Associates mobilized the personnel out of Calgary, Alberta and Saskatoon, Saskatchewan via scheduled air flight by C.P. Air to Prince Rupert and by T.P.A. to Stewart.

4.

All camp equipment and gear was supplied by Can-Lake and mobilized from Calgary to Stewart via truck. All equipment, supplies and personnel were transported to the job site by a Vancouver Island Helicopter's Bell 206 based in Stewart, British Columbia.

Communications with other Can-Lake camps in the area, Stewart and other southern centers was maintained utilizing Marconi CH100 radios with company and B.C. Telephone frequencies.

Supplies and materials for the job were purchased in Stewart and ferried to the job site via the Bell 206 helicopter.

Property Ownership

The property consists of one modified grid staking claim composed of 12 units. The claim record number 2006 is 100 percent owned by E & B Explorations Ltd. It was staked December 17, 1979 and recorded January 9, 1980. Figure 2 shows the location of the mineral disposition.

Previous Work

The first recorded claims in the area appear to have been staked in 1934 to 1935 by Cominco to include Pb-Zn veins along fault zone on the west side of Treaty Glacier opposite the present Treaty claim. No record of this work is available. During 1966 to 1967 the British Columbia Department of Mines mapped the area as part of the program designed to revise the section of B.C. from Portland Canal to the Iskut River. Discontinuous Pb-Zn veins were noted in the area of the present Treaty claim.

In 1968 a large number of claims were staked by J. Berkosa to include the alteration areas. No apparent work was conducted on the claims and they were allowed to lapse.



GEOLOGY

Regional Geology

The Treaty claim lies in an area encompassing rocks related to the Mitchell Intrusives and rocks of the Lower to Middle and Upper Jurassic Hazelton series. It is east of the main Coast Crystalline Complex and is on the western edge of the Bowser Basin.

The oldest rocks in the project area are Lower to Middle Jurassic rocks termed the Unuk River formation. These rocks consist of green and grey volcanic epiclastics, minor marine sediments and minor flow volcanics unconformably overlain by Middle Jurassic rocks termed the Betty Creek formation. The Betty Creek formation consists of red and green volcanic sandstone conglomerates and tuffs with minor basalt flows. The Upper Jurassic rocks or Salmon River formation consists of a sequence of argillaceous sediments, predominantly shales, unconformably overlying the Betty Creek Formation.

The Mitchell intrusives, a series of predominantly syenitic rocks occur as small stocks, dykes and/or sills.

Immediately west of the project area Unuk River rocks are intruded by a small syenite porphyry stock, both unconformably overlain by the Salmon River formation. The project area appears to be underlain by the Betty Creek formation placed juxtaposition to the above rocks by the Bruce Jack fault zone, a steep north striking structure with at least 1000 meters of vertical displacement. Alteration related both to the Bruce Jack fault and the Mitchell Intrusives has created linear quartz-sericite-pyrite zones.

Local Geology

Geological mapping at a scale of 1:5000 was conducted over the Treaty claim. Enlargements of a 1:50,000 topographic map, NTS 104 B/9 was used to provide ground control. Figure 3 shows the distribution of outcrops and rock types noted.

The mapping conducted indicates that the property area is underlain by predominantly andesitic flow rocks and quartz sericite schists with minor pillow lava horizons.

The andesites are variably altered and consist of fine grained to porphyritic rocks. Minor argillite and andesite breccias were noted. The rocks are green chloritic and cut by fractures with pyrite sericite alteration adjacent to fractures. Alteration may extend up to 0.5 meters into the country rocks.

The sericite schists are thinly foliated rocks with varying quantities of pyrite and quartz stringers. Weathering produces prominent dull yellow-orange gossans probably due to pyrite oxidation. The foliation measurements indicate a northwest strike with vertical dips.

The pillow lavas are dark brown massive units with an agglomeration of rounded masses up to 1 meter in diameter. The lava is vesicular, fine grained and weakly magnetic. The maximum width observed appears to be approximately 15 meters and the unit appears to be discontinuous along the strike length.

Several narrow northwest trending fault zones were noted within the andesitic rocks. No mineralization was detected along these zones.

Four quartz veins with pyrite in the sericite schists were sampled and analyzed for Au, Ag, Pb, Zn, Cu and Mo. No significant quantities of the above metals were noted.

The area has been postulated as the Bruce Jack fault extension of the Mitchell-Sulphurets mineral zone. The lack of any visible molybdenum or chalcopyrite would indicate that this may be a separate alteration zone. Alternatively if it is related to the Mitchell-Sulphurets zone, further exploration should concentrate to the south of the present claim group.

CONCLUSIONS

The property appears to be underlain by altered rocks of the Middle Jurassic Hazelton series. Alteration due to faulting and intrusion of syenitic rocks to the west have produced linear zones of quartz-sericite-pyrite schists.

No significant economic mineral concentrations were noted in the samples collected. Prospecting failed to locate the area of Pb-Zn veins reported by the B.C. Department of Mines survey.

Further work should be dependent on results on the Michell-Sulphurets property 8 kilometers south. This property is a large Cu-Mo, Cu-Au prospect containing quartz veins with appreciable gold in areas peripheral to the alteration zones.

12.

RECOMMENDATIONS

- -

....

.

•

.

-

.

.

.

.

.

•

.

·

•

.

•

.

.

۲ ۱

.

.

1.1

.

r

.

No further work is recommended at the present time.

13.

REFERENCES

Grove, E.W. British Columbia Department of Mines and Petroleum 1968 Resources Annual Report p. 45 to 46.

British Columbia Department of Mines Annual Report, 1935.

14.

CERTIFICATE

I, EDWARD R. KRUCHKOWSKI, GEOLOGIST, residing at 23 Templeside Bay, North East, in the City of Calgary, in the Province of Alberta, hereby certify that:

- I received a Bachelor of Sciences Degree in Geology from the University of Alberta, Edmonton, Alberta in 1972.
- 2. I have been practising my profession as an Exploration Geologist since 1972.
- 3. I am employed by E & B Explorations Ltd., at 2900 Cascade Building, 300 - 5th Avenue S.W., in the City of Calgary, in the Province of Alberta.
- 5. The work described in this report was undertaken under my direct supervision.

DATED at the City of Calgary, in the Province of Alberta This 27 day of Opril, A.D., 1981.

E.R. Kruchkowski, B. Sc. Geologist



7

{

Province of British Columbia Ministry of Mines and Petroleum Resources

MINERAL ACT

Statement of Exploration and Development

I. E. Kruchkowski	Agent for E&B Explorations Ltd.
(Name)	(Name)
23 Templeside Bay, N.E.	2900, 300-5th Ave. S.W.
(Address)	(Address)
Calgary, Alberta	Calgary, Alberta
Valid subsisting F.M.C. No. 191112	Valid subsisting F.M.C. No193077
STATE THAT	
1. I have done, or caused to be done, work on the	Treaty (12 units)
Record No.(s) 2006	
Situate at 56°35'N, 130°10'W	theSkeena
to the value of at least 29,292.00	dollars. Work was done from the
of <u>May</u> 19.80, to the as part of a program covering se 2. The following work was done in the 12 months i	
(COMPLETE APPROPRIATE SEC	ION(S) A, B, C, D, FOLLOWING)
A. PHYSICAL (Trenches, open cuts, adits, pits, shaft	s, reclamation, and construction of roads and trails)
(Give details as required by section 13 of	egulations.) COST

	· · · · · · · · · · · · · · · · · · · ·
······································	
······	
TOTAL PHYSICAL	
	1

B. PROSPECTING (Details in report submitted as p (The itemized cost statement mt	(Details in report submitted as per section 9 of regulations.) (The itemized cost statement must be part of the report.)		
and associated costs: equipment rem maintenance, assaying, transportat	\$27,915.00		
	TOTAL PHYSICAL AND PROSPECTING	\$27,915.00	

I wish to apply \$....8,400,00.....of this work to the claims listed below.

(State number of years to be applied to each claim and its month of record.)

_.....

Treaty (recorded January 9, 1980) - apply 5 years

•		
 	 ~~	

(For C and D sections, please turn over.)

	$\left(\right)$	
	tails in repoir submitted as per section 8 of regulations.) e itemized cost statement must be part of the report.)	COST
(De) (Tb)	GEOPHYSICAL, GEOCHEMICAL tails in report submitted as per section 5, 6, or 7 of regulations.) c itemized cost statement must be part of the report.) te type of work in space below.)	
	ogical/geochemical survey	1,377.00
(ple	ase refer to report for details)	
	TOTAL OF C AND D	1,377.00
	baye described work? Name E&B Explorations Ltd.	
Who paid for the a	loove-described work? Iname	
	Address 2900, 300-5th Ave. S.W.	
	Calgary, Alberta	
Porchia dana	Condition (DAC) With James I Dans	4.1/01757
	t Credits (PAC) Withdrawal Request	AMOUNT
amount to be withd	rawn from owner(s) account(s):	
	Name of Owner	
May be no more than of value of the app	30 per cent 1	
submitted as assessm	ent work in 2	
C and (or) D.)	3	
- <u> </u>	4	
	TOTAL WITHDRAWAL	і 1 .
	TOTAL OF C AND (OR) D PLUS PAC WITHDRAWAL	
		· · · · · · · · · · · · · · · · · · ·
[wish to apply \$	of this work to the claims listed below.	
	(State number of years to be applied to each claim and its month of reco	ord.)
·	·	· · · · · · · · · · · · · · · · · · ·
	·	
·		
	•••••••••••••••••••••••••••••••••••••••	
	credited to portable assessment credit (PAC) account(s).	
(May only be credited from the approved value of C and (or) D not applied to	o claims.)
	Name	AMOUNT
n owner(s) name.	1E&B Explorations Ltd.	20,892.00
	2	
	3	
n operator(s) name (person paying for	1	<u>)</u>
the work).	2	, ⁻

 \langle 2 (Signature of Applicant) E. Kruchkowski - Project Geologist E&B Explorations Ltd. ---

. •

.

• .

.

.

۹

,

1 4

• -

4 -

1

.

٦

·į

ļ

ł

1

• .

3.....

e Z

APPENDIX I

-

.

ы....

÷

Geochemical Analysis



i.

j,

CHEMEX LABS LTD.

212 BROOKSBANK AVE. NORTH VANCOUVER, B.C. CANADA V7J 2C1 **TELEPHONE:** 984-0221 AREA CODE: 604 TELEX: 04-352597

CERTIFICATE NO.

INVOICE NO.

RECEIVED

ANALYSED

69976

39139

August 29, 1980

Sept. 27, 1980

+ ANALYTICAL CHEMISTS

GEOCHEMISTS

· REGISTERED ASSAVERS

CERTIFICATE OF ASSAY

E & B Exploration Inc., TO: 1440 - 300 W. Pender St., Vancouver, B.C. V6C 2V6 ATTN: BOUSER PROTECT

	2	. %	*	%	oz/ton	oz/ton	
SAMPLE NO. :	Cu	Мо	Ъ	Zn	Ag	Au	
Sulphurets Cr. #1	0.28	<0.001	<0.01	0.11	0,20	0.024	
2	0.16	<0.001	<0.01	0.02	0.01	<0.003	
3	0.15	<0.001	<0.01	0.01	0.01	<0.003	
4	0.05	0.011	<0.01	<0.01	0.01	<0.003	
5	0.19	0.003	0.01	<0.01	0.12	0.030	
6	0.09	0.002	<0.01	<0.01	0.01	0,003	
7	0.01	<0.001	0.17	0.23	3.86	0.010	
8	<0.01	<0.001	0.09	0.02	0.08	0.003	5.1
9	0.01	0.002	<0.01	<0.01	0.07	<0.003	
Sulphurets Cr. #10	0.01	<0.001	0.04	0.48	0.28	0.003	
Knipple Lk. 1	<0.01	0.001	<0.01	0.02	0.10	<0.003	•
2	<0.01	0.005	<0.01	0.01	0.05	0.005	
3	0.13	<0.001	61.2	0.34	28.30	0.003	
4	<0.01	0.003	0.98	0.04	0.68	<0.003	
5	2.97	<0.001	0.42	1.32	137.64	0.042	· · ·
Knipple Lk. 6	0.01	0.002	0.04	0.01	0.80	0.030	
Devil Bliss 1	0.01	0.014	0.14	0.02	0.16	<0.003	
2	<0.01	0.015	0.09	0.18	0.12	<0.003	· · · ·
3	<0.01	0.001	5.45	0.20	2,20	0.064	
4	0.12	<0.001	0.22	0.01	0.40	<0.003	
S	0.06	0.004	0.03	<0.01	0.10	<0.003	
Devil Bliss 6	<0.01	0.006	0.02	<0.01	0.20	0.054	
Treaty GL 1	<0.01	<0.001	<0.01	<0.01	0.10	<0.003	••
2	0.04	<0.001	<0.01	<0.01	0.18	<0.003	
3	<0.01	0.003	0.01	<0.01	0.20	0,026	•
_Treaty GL 4	<0.01	<0.001	<0.01	0.01	0.12	0.003	
Treaty Cr. 1	<0.01	<0.001	<0.01	0.02	0.20	0.005	
. 1 2	0.02	<0.001	0.04	0.02	0.36	0.012	- .
<u>57</u> 3	0.01	0.001	0.01	0.02	0.16	<0.003	• •
ales 4	<0.01	0.001	<0.01	0.02	0.02	<0.003	
5	0.01	<0.001	<0.01	0.01	0.04	<0.003	
Treaty Cr. 6	<0.01	<0.001	<0.01	<0.01	0.02	<0.003	
Treaty Cr. 7 (float)	<0.01	0.002	<0.01	<0.01	0.02	<0.003	
Cat's Paw 1	<0.01	0.001	<0.01	<0.01	0.04	<0.003	.
2	<0.01	0.001	<0.01	0.01	0.02	<0.003	
	0.01	<0.001	<0.01	0.01	0.06	<0.003	
4	<0.01	<0.001	0.01	0.01	0.03	<0.003	ļ
5	<0.01	<0.001	<0.01	<0.01	0.04	<0.003	
Cat's Paw 6	<0,01	<0.001	0.03	<0.01	0.10	<0.003	
war o pan o		-		<u> </u>	-		
	· · · · · · · · · · · · · · · · · · ·			\rightarrow			

ста

MEMBER CANADIAN TESTING ASSOCIATION

REGISTERED ASSAYER, PROVINCE OF BRITISH COLUMBIA

-£

.....

E&B FROJECT: Bowser-Unuk

DURATION OF TOTAL EXPLORATION PROGRAM: May 25 - August 26, 1980

TREATY CLAIM, Record #2006

Notal 72 field days

(

Geology (field personnel), rock geochemistry	\$ 1,377.00
Mob/Demob (field personnel)	2,861.00
Prospecting (field personnel)	14,383.00
Equipment Rental	430.00
Subsistence & Camp Maintenance	2,700.00
Assaying	375.00
Mob/Demob - Transportation, Travel, Freight & Fuel	5,795.00
Miscellaneous Office Costs	101.00
Office Costs - Report Compilation/Drafting	1,270.00
	\$29,292.00



GEOLOGY - (field personnel) for Catspaw, Treaty and Sulphurets Claims

Invoice #	Date		
1006/1098	May, 1980	Field Geologist, 4 field days @ \$176/day	\$ 704.00
1006/1098	May, 1980	Junior Assistant, 4 field days @ \$113.33/day	453.32
1190/1072	August, 1980	Field Geologist, 12 field days @ \$176/day	2,112.00
1190/1072	August, 1980	Junior Assistant, 11 field days @ \$113.33/day	1,246.63
	•		<u> </u>

\$ 4,515.95

Allocation:

Treaty Claim	-	30.5% - \$1,377.36
Sulphurets		17.8% - \$ 803.84
Catspaw	-	51.7% - \$2,334.75

• • '

T

MOB/DEMOB - (field personnel) for Catspaw, Treaty and Sulphurets Claims

Invoice #	Date		
1006/1098	May, 1980	Field Geologist, 7 field days @ \$176/day	\$ 1,232.00
1006/1098	May, 1980	Junior Assistant, 7 field days @ \$113.33/day	793.31
1065/1076	June, 1980	Junior Assistant, 12 field days @ \$113.33/day	1,359.96
1065/1076	June, 1980	Field Geologist, 12 field days @ \$176/day	2,112.00
1190/1072	August, 1980	Field Geologist, 13 field days @ \$176/day	2,288.00
1190/1072	August, 1980	Junior Assistant, 14 field days @ \$114/day	1,596.00
• .		2011 - 2012 - 20	\$ 9,381.27

Allocation:

Treaty Claim - 30.5% - \$2,851.29 Supposed - 17.2 - Supposed Catagory - 51.77 - \$1.67.10

t

PROSPECTING - (field personnel) for Catspaw, Treaty and Sulphurets Claims

Invoice #	Date		
1006/1098	May, 1980	Junior Prospector,	•
1006/1098	Mar. 3000	7 field days @ \$130/day	\$ 910.00
1000/1098	May, 1980	Senior Prospector, 16 field days @ \$156.67/day	2,506.72
1065/1076	June, 1980	Junior Assistant, 9 field days @ \$113.33/day	1,019.97
1065/1076	June, 1980	Field Geologist,	1,010.01
	·····	9 field days @ \$176/day	1,584.00
1121/1090	July, 1980	Field Geologist,	
	-	19 field days @ \$176/day	3,344.00
1121/1090	July, 1980	Junior Assistant,	
1121/1090	July, 1980	19 field days @ \$109.68/day Senior Prospector,	2,083.92
1121/1090	Dary, 1900	5 field days @ \$151.61/day	758.05
1121/109 0	July, 1980	Junior Prospector,	
•	7.	5 field days @ \$125.81/day	629.05
1156/1087	July, 1980	A&V Harris	4,179.04
1156/1087	July, 1980	A&V Harris	8,938.36
1156/1087	July, 1980	A&V Harris	4,400.00
1156/1087	July, 1980	A&V Harris	7,854.77
1190/1072	August, 1980	Junior Assistant,	
,		16 field days @ \$114/day	1,824.00
1190/1072	August, 1980	Field Geologist,	
		2 field days @ \$176/day	352.00
1190/1072	August, 1980	Senior Prospector,	5 017 44
1100 /1072	Annuat 1000	32 field days @ \$156.67/day Junior Prospector,	5,013.44
1190/1072	August, 1980	14 field days @ \$125.81/day	1,761.34

\$47,158.66

Allocation:

Treaty Claim	- 30.5% - \$14,383.39
Sulphurets	- 17.8% - \$ 8,394.24
Catspaw	- 51.7% - \$24,381.02

EQUIPMENT - Rental for total area explored

): ج د

.1

Invoice #	Date		
1006/1098	May, 1980	1-1200 Watt Generator, 12 days @ \$195/mo	\$ 78.00
1006/1098	May, 1980	1-3 Way Fridge, 12 days @ \$60/mo	24.00
1102/1085 1065/1076	June, 1980 June, 1980	Canadian Marconi 1-1200 Watt Generator,	903.50
·		30 days \$ 195/mo	195.00
1065/1076	June, 1980	1-CP 34 Radio, 24 days @ \$102/mo	82.00
1121/1090	July, 1980	1-1200 Watt Cenerator, 31 days @ \$195/mo	195.00
1121/1090	July, 1980	1-CP 34 Radio,	00.00
1156/1087	July, 1980	24 days @ \$102/mo Canadian Marconi	82.00 374.10
1190/1072	August, 1980	1-1200 Watt Generator,	
1190/1072	August, 1980	31 days @ \$195/mo 1-CP 34 Radio,	195.00
1210/1102	August, 1980	31 days @ \$102/mo Canadian Marconi	102.00 374.70
	regular and		

\$ 2,604.70

Allocation:

Treaty Claim	- 16.5% - \$429.78
Sulphurets	- 9.6% - \$250.05
Catspaw	- 27.9% - \$726.71

SUBSISTENCE & Camp Maintenance for Catspaw, Treaty & Sulphurets Claims

Invoice #	Date		
1006/1098	May, 1980	Subsistence, 45 days @ \$35/day	\$ 1,575.00
1065/1076 -	June, 1980	Subsistence, 42 days @ \$35/day	1,470-00
1121/1090	July, 1980	Subsistence, 48 days @ \$35/day	1,680.00
1156/1087	July, 1980	Scotty's Holdings Repair	136.26
1190/1072	August, 1980	Subsistence, 114 days @ \$35/day	3,990.00

\$ 8,851.26

Allocation:

Treaty Claim	- 30.5% - \$2,699.63
.Sulphurets	- 17.8% - \$1,575.52
Catspaw ,	- 51.7% - \$4,576.10

ASSAYING - for samples collected in total exploration area

Invoice # Date

Computer Print-Outs	September, 1980	\$ 1,947.50
Computer Print-Outs	October, 1980	325-55
		\$ 2,273-05

Allocation:

Treaty Claim	-	16.5% - \$375.05
Sulphurets		9.6% - \$218.21
Catspaw	-	27.9% - \$634.18

t

MOB/DEMOB - Transportation, Travel, Freight & Fuel for total area explored

Invoice #	Date		
1034/1098 1034/1098 1034/1098 1034/1098 1034/1098 1034/1098	May, 1980 May, 1980 May, 1980 May, 1980 May, 1980 May, 1980	R.Rentamaki Expenses M.Balog Expenses H.Meyers Expenses N.Boa Expenses Port O Call Inn Avis	\$ 118.66 376.30 4.00 360.50 290.63 652.23
1102/1085 1074	June, 1980 June, 1980	Nolan Boa Expenses Vancouver Island Helicopter	420.00 461.50
1026 1156/1087 1156/1087 1156/1087 1156/1087 1156/1087 1081	July, 1980 July, 1980 July, 1980 July, 1980 July, 1980 July, 1980 July, 1980 July, 1980	Vancouver Island Helicopter Air Canada R.Rentamaki Pacific Western C.P. Air King Edward Hotel Vancouver Island Helicopter	1,944.00 978.00 420.00 43.12 28.75 3,095.60 2,957.80
2089 1210/1102 1210/1102 1210/1102 Computer Print-Out	August, 1980 August, 1980 August, 1980 August, 1980 September, 1980	Provincial Airlines R.Rentamaki King Edward Hotel R.Arnold Vancouver Island Helicopter	43.40 3.00 600.50 1,297.10 15,580.10
1027 1336/1077	October, 1980 October, 1980	Vancouver Island Helicopter Transprovincial Airlines	5,246.50 197.45
			\$35,119.14

Allocation:

7

. ...

Treaty Claim	- 16.5% - \$5,794.66
Sulphurets	- 9.6% - \$3,371.44
Catspaw	- 27.9% - \$9,798.24

MISCELLANEOUS - Office Costs for Catspaw, Treaty & Sulphurets Claims

1210/1102	August, 1980	Bellaire Blue	12.93
1156/1087	July, 1980	Bellaire Blue	9_33
1102/1085	June, 1980	Bellaire Blue	283.33
983/1104	April, 1980	Energy, Mines & Resources	\$ 24.00
Invoice #	Date		

Allocation:

Treaty Claim	- 30.5% - \$100.52
Sulphurets	- 17.8% - \$ 58.67
Catspaw	- 51.7% - \$170.40

OFFICE COSTS - Report Compliation/Drafting for total area explored

Date			
May, 1980	Drafting Supervision, 2 hrs @ \$28/hr.	\$	56.00
June, 1980	Drafting Supervision, 2 hrs @ \$28/hr.		56.00
June, 1980	Drafting Junior, 19 hrs @ \$14/hr.		266.00
June, 1980	Report Compilation, Field Geologist 9 days @ \$176/day	1,	,584_00
June, 1980	Junior Assistant,	1,	,019.97
	May, 1980 June, 1980 June, 1980 June, 1980	May, 1980Drafting Supervision, 2 hrs @ \$28/hr.June, 1980Drafting Supervision, 2 hrs @ \$28/hr.June, 1980Drafting Junior, 19 hrs @ \$14/hr.June, 1980Report Compilation, Field Geologist 9 days @ \$176/day June, 1980	May, 1980Drafting Supervision, 2 hrs @ \$28/hr.\$June, 1980Drafting Supervision, 2 hrs @ \$28/hr.\$June, 1980Drafting Junior, 19 hrs @ \$14/hr.19 hrs @ \$14/hr.June, 1980Report Compilation, Field Geologist 9 days @ \$176/day1June, 1980Report Compilation, Junior Assistant,1

Computer

ł

÷

Print-Out	September, 1980	Report Compilation	3,280.00
	September, 1980	Report Compilation, Field Geologist, 2 days @ \$205/day Report Compilation, 2 days @ \$205/da	
	-	2 days @ \$205/day	1,025.00
1311/1035	October, 1980	Report Compilation, 2 days @ \$205/da	y 410.00
	•		

Cost Share of subject claims:

Breent Clair	•••	16.55	-	<u></u>
	-	• •		
	-		-	an an anna an an An aite an s

\$ 7,696.97

